SSC GD Paper Held On
12 February 2019

Q.1 The starements helow ars fallowed by mvn concfusinns fabelad T and T Asstming thar the information in the statements
iz troe. even if it appears to be ot varionce with generally esmablished fhets, deeide which conchuzion(s) logically and
definitely Tollow(s) from the informestion given in the statemants.

Slatemen is:

1. All cars are tigers,
1L %ome children are tigers,

Conslusions:

1. Some cars are children.
1L Some childsen are cars.

Ame i Only conclusion I follows
' 7 Neither I nor II follows
/< 3 Either I or II follows

X 4 Only conclusion IT follows

Question ID : 9895808880
Chosen Option ; 2

Q2 gelect the cotrect option that will fill in the blank and complete the series.

RQS.SOQ, TMO,
Ak 901 XCV

X 2 SMN

v ¢ UKM

X 4 ULP

Question ID : 9896808868
Chosen Option . --

Q3 Select the correct option that will fill in the blank and complete the series.

35. 42, 33,40, 31, 38,
Ans K 1. 31

X233

v 329

< 435

Question |D : 9895808881
Chosen Option * 3
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@4 Choose the option which completes the given figure series.

Q Figures:

O [Fx [tOoXa=0

x o = tx

1 < 3 4 £
Ans

}(1_01?
x
2 =0
X2l tx
0
gt
3 =
AN
v o
x

Question 1D : 9895808887
Chosen Option : 4

Q5 Find the missing number from the below options.

756 879
534 722

e ol
Any X 1. 482
X257
X 3 562
v an

Question 1D : 9895808885
Chosen Option . 1

Q.6 Selectthe option that is related to the third term in the same way as the second temm is related to the first ferm.
PAIZnSQ:7
Ans: K 3,.)QT
v HI
X 3RS
oK L XC

Question 1D - 9895808873
Chosen Option © 1

Q.7 Four options have besn given out of which three are alike i scrme marmer, while one is different, Choose the odd one,

Ans X 1.10-33
v 8-190
X 39-30
X17-24
(uestion 1D - 9895808884
Chosen Option © 4
Q.8
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Seven chilklren AL B, C. D F. F and G are standing in 2 row. G is to the right of T and to the Iefi of B A is on the right
of €. A and D have one child between them. T is s2cond 1o the rizht of G. D and F have twa children between them.

i s
X'G
v:F
X3E
X4+B

Question 1D : 9895808877
Chosen Option . 4

Qs . . . .
Which of the following answer figure will complete the given figure?
Question Figure:
21 ™
e !
Ans ——
X \
x 2 . |
ettt
Question 1D - 98958088 88
Chosen Option : 4
Q.1 A piece of paper iz folded and eut as shown halow i the question fipure. From the given answar figures. indieate how it
o will aposar when opened?
TS
NS N
\ :_..-’ll\wq_v[;) ( qﬁ
Ans

Question 1D : 9895808891
Chosen Option . 3
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Q.1 In acartain code, SAMOA is coded as QZMPC, then how is GAMER coded in the same way?
1

Ans X 1. EZMFU
X 2 EZMTF
X 3 EZTMF
v+ EZMFT

Question 1D - 9895808874
Chosen Option : 4

Q.1 Choose the opiion it most closely resembles the mirror imige of he given fgure wher mirror is placed at lef side,
iz
Questinn figure
,r
x
2

X3 @l

m@

Ans

Question |ID . 9895808890
Chosen Option = 2

Q.1 The statements below are followed by two conclusions labefed Tand TT. A ing thas the i ion in the stat
3 s me even i appesrs 1o he st ovarianee Wit semerally ssmbliched faele deeide ahich eonelisionge) Tngieatly and
{efmitely fellow(s) from the information given in the statements.

Statements:
T All Stems ate flowers.
0.  Somge flowers are trees.
T Some trees are leaves,
Conelusions:
1. Some stems arz trees,

T.  Some flowerss are leaves

An 1 Neither I nor II follows
< 2 Only II follows

X 3 Only I follows

X + Both I and II follow

Question 1D . 9895808879
Chosen Option . 4

Q.1 Four words have been given out of which three are alike in some manner. while one is different. Choose the odd one.

4

Ans 3 1. Kilometer
X 2 Millimeter
v 3 Ammeter

X 4 Decimeter

Question 1D : 9895808870
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L Chosen Option ; 3

J

Q'1 * Y ) (Pl & : ) "l hal . -
5 If ‘U’ means -, "W' means “+°, ‘T’ means “+°, and "V' means ‘>, then:

33T77U11T1=2°
Ans of 1 100

X 2 101

X 3110

X 4200

Question 1D - 98958038 86
Chosen Option © 1

Q.1 Selectthe option that is related to the third term in the seme way as the second term is related to the first term.
6
Wood : Carpettter :: Iron @

Ans X' 1 Goldsmith
< 2 Tailor
< 3 Farmer
v Blacksmith

Duestion ID - 9895808871
Chosen Option © 1

Q.1 Four letter chusters have haen given out of which threa are alike in some manner. while one is differant, Choose the odd

! o
Ans of | LIKK
X 2 KLOI
X 3 STUO
X 4 BCIE

Question ID - 9895808869
Chosen Option ; 1

Q.1 1aa car axhibition, seven cors of seven different companies viz Car01, CasD2, Cas(l2. Cardd, Car0S. Cards and Cartl7
8  were displayed in o mow, facing nocth such that:

I Caritl was to the immediate right of Card7.
I Car07 was fourth to the right of Card3.
IO Car04was hetween Car02 and Car(s.
TV Carn3, which was third tothe left of Card2, wae at one of the ancda.

Wiichaof the foflowing was the correct position of the CafS7

An® X1 Between Car06 and Car07
« 2 Immediate right of Car01
X 3 Between Car02 and Car07
/< + Immediate left of Car06

Question ID . 9895808876
Chosen Option * 3

Q.1 Seleet the option thet is related to the Third tenm in the same way as the second term is related to the first torme
9
57:6.:972

Ans x‘s
X227
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X309
v

Question ID . 9895808883
Chosen Option * 4

Q.2 2 row of men, Manish i 30% from tha sight end Kavit is 20 from the lafi. When they interchange their position.
Manish becomes 352 fram the right. What is the total mumber of men in the row?®

Al K 144
v 54
<334
X 4 45

Question ID . 9895808878
Chosen Option : 4

Q2 Select the correct option that will fill in the blank and complete the series.

12, 26, 54, 110, 222,
Ans x 1. 444

v 446

X 3 423

X 4 452

Question 1D : 9895808882
Chosen Option : 2

Q.2 Inthe following diagram, there are three circles Study the diagram carefully and answer the given questions.
2

Find cut those teachiers who are dociors but not Tndians,
Ans x 5.5
X225
via
X4+7

Ouestion 1D - 9895808892
Chosen Option 3

Q2 Select the related word pair from the given alternatives.

Novel : Novelist:

Ans X 1. Television : Journalist
X 2 Music : Dancing

v Book : Author

X 4 Publications : Columnist

Ruestion ID - 9895808872
Chosen Option : 3
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[} J

Qf Choose the option figure in which the problem figure is hidden / embedded.
Question figure:

1

x 1

'
L
v:ld
%

Ouestion ID . 9895808889
Chosen Option © 3

qéz If SMILEY is written as 41.5 and CRY as 23, how will LAPPY be written?

Ans: K 1.42
X2 30
<332
W35

Question ID - 9895808875
Chosen Option : 4

Qéz What will happen when an egg is placed in a vinegar solution for 20-24 hours?
Ans  of 1 The egg shell will dissolve.

X 2. The egg shell will break.

< 3 The egg shell will shrink in size.

/< 4 The egg shell will increase in size.

Question 1D * 98958089 35
Chosen Option : 1

Q2 Who is the Chairman of the Rajya Sabha?
Ans X1 Leader of the Opposition

/< 2. President
< 3 Prime Minister
v * Vice President

Question ID . 9895808929
Chosen Option * 2

Qéz Is a dance performed in West Bengal for the Durga Puja at the time of Dusselua.
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Ans X 1. Kikkli
X ? Tera Tali
v * Dhunachi
X 4 Kolattam

Question ID : 9895808919
Chosen Option . 1

%? Which of the following is a correct food chain?
Ans X 1. Grass-deer-snake-lion

' 2 Grass-mouse-snake-hawk

X 3 Grass-rabbit-snake-lion

X 4 Grass-rabbit-snake-hawk-lion

Question 1D 9895808936
Chosen Option - 1

@3 Which of the following is NOT a Kharif crop?
Ans  of 1 Barley

X 2 Jowar

2 3 Maize

X 4 Bajra

Question D - 9895808937
Chosen Option * 1

Ans o | China
X 2 Turkey
X 3 India
X 4 Brazil

Q_a . - . .
4~ Which among the following countries is the largest producer of rea?

Question ID 9895808938
Chosen Option . 4

Q.f Who wrote the famous epic poem Padmavat?
Ans X 1. Amir Khusrow

< 2 Khwaja Moinuddin Chisti

< 3 Abul Fazal

« ¢ Malik Muhammad Javasi

Question ID : 9895808925
Chosen Option : 2

Ans X 1 Kandla
+ 2 Vishakhapatnam
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< 3 Mormugao
< 4 Thoothukudi

Question 1D : 98958089 39
Chosen Option 2

043 Mayur Nritya or Peacock dance is a folk dance from the Braj region of .

Ans 2 1. Andhra Pradesh
v’ 2 Uttar Pradesh
X 3 Odisha
X 4 Bihar

Question 1D - 9895808918
Chosen Option © 1

053 The Constitution of India contained how many articles at the tfime of commencement?

am. XK 1395
X 2 394
V'3 395
X 4392

Question 1D : 9895808930
Chosen Option : 3

""5'3 The world's first underground railway system was started in

Ans o 1 London
< 2 Moscow
X 3 Washington
X 4 Paris
Question D+ 9895808942
Chosen Option : 3
Q_f Spinach contains unusually high percentage of acid as a natural product,

Ane 3 1 Tartaric Acid
X 2 Lactic Acid
X 3 Citric Acid

v+ Oxalic Acid

Question ID . 9895808932
Chosen Option : 2

aéa India’s longest elevated road is situated in
Ans o 1 Ghaziabad

X 2 Agra

X 3 Lucknow

X 4 Varanasi

[ |
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Question ID | 9895808924
Chosen Option . 1

063 Which of the following countries has a better Gross National Income (GNI) than India?
Ans o1 Sri Lanka
/< 2 Nepal

< 3 Bangladesh
X 4 Pakistan

Question 1D ; 9895808928
Chosen Option : 4

@4 NSSO stands for:

Ans X 1. National Social Service Organisation
2 2 National Statistical Survey Organisation
2< 3 National Sale Service Organisation

« ¢ National Sample Survey Organisation

Question 1D : 9895808926
Chosen Option © 4

Q4 What is the main purpose of water harvesting?
Ans X1 hold water on the surface of the earth
« 2 recharge ground water

X 3 make dams

X * reduce soil erosion

Question 1D . 9895808933
Chosen Option = 3

@4 The Buland Darwaza at Fatehpur Sikri was constructed by
Ans 1 Shahjahan

< 2 Humayun

v ¢ Akbar

X ¢ Jahangir

Question 1D - 9895808940
Chosen Option © 1

Q.4 .
s 228 Dacember is celebrated as

Ans X 1. National Science Day

' 2 National Mathematics Day
< 2. National Technology Day
< 4 National Literacy Day

Question 1D 9895808923
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I Chosen Option ; 1

Q4 Bleeding in dengue is due to a decrease in number of
Ans X1 red blood cells

X 2 white blood cells

X 3 plasma

v ¢ platelets

Question 1D - 98958089 34
Chosen Option : 4

%4 The Second Round Table Conference was held in .

Ans X 1. December 1932
X 2 December 1929
X 3 December 1930
v ¢ December 1931

Question 1D * 9895808941
Chosen Option - 2

Q.4 Which fort in the Jaipur area of Rajasthan i= koown for its artistic Hindn style clements and is also a World Heritags site?
6

Ans X 1. Mehrangarh Fort
X 2 Chittorgarh Fort

« 3 Amber Fort
X 4 Gwalior Fort

Question |D : 9895808920
Chosen Option © 1

@4 The Twelfth Five-Year Plan of India was from ;

Ans X 12011 to 2016
< 2 2010 to 2015
v 3 201210 2017
X 4 2013 t0 2018

Question 1D : 9895808927
Chosen Option . 1

%! Article 21A deals with the:
Ans X 1. Right to Constitutional Remedies

v

Right to Free and compulsory education to all children of the age of six to fourteen years
/< 3 Right against Exploitation
/< 4 Right to Freedom and Religion

Question 1D : 9895808931
Chosen Option . 4
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% Who holds the current World Chess Championship title 2018?
Ans X 1 Viswanathan Anand

« 2 Magnus Carlsen

X 3. Sergey Karjakin

X 4 Fabino Caruana

Question 1D : 9895808921
Chosen Option . 2

Q.5 Asof November 2018, Mary Kom is the first woman boxer to win world championship gold medals.
0

Ans X 1 7
X229
vi6
X48

Ouestion ID 9895808922
Chosen Option - 1

Q.5 17 A cn complete a work [n 30 days and B can complete the same work it 20 days, then in how many days will 4 and
1 B together complets the same work?

A 12 days
X 2 15 days
X 3. 20 days
X 4 18 days

Question 1D : 98958090 58
Chosen Option : 1

Q.5 e ratio of the numbar of bovs and girls in a school of 168 stucents is 51 4. How many new gitls should join the school
2 sothat the ratio of boys and girls becomes 1; 17

Y SRF )
X2 48
X 350
X156

Question 1D : 9895809053
Chosen Option © 1

Q.5 A trader sells bis goods at 105 discount on the marked poce. How much should he keep the merked price of item to get
3 aprofit of 10%, when cost price is T o007

A X1 T7s
v'2 21100
X 331250
X4 1275

Question ID . 9895809048
Chosen Option . 1

https:fissc.dicialm.comi/perfa21/pubi2207 ftouchstone/Asse ssmentQF HTMLMode 1/220701827/220701827577DT2032/1552649578 7153101/ ..
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Qs
4

Ane X1 12 cm
v 14cm
X 3 10cm
X 4 15cm

Aroa of a thombus is 175 cm?, Longth of one diazonal is 25 om, What is the lengrh of othor dingonal?

Question 1D : 9895809063
Chosen Option . 1

Q.5 1he difference betwsen the campound intersst and simple intersst on a certain sum at 10% per annum for 2 years is T 42
5  when the interest is compounded yearly. What is the sum®

Ans X1 2 8400
X2 ¥2100
v 4200
X 4 T 5200

Question 1D : 9895809057
Chosen Option : 1

as A person gels a profit of 20% by selling an objest on ceriain price. If he sells it on double of the price, then what will be
6 percentage profit om old selling price?

" 1 662%
3

X 2 120%

2 3 100%

X 4 40%

Question 1D . 9895809051
Chosen Option * 1

QT-E There is a loss of 10% after selling an item for ¥ 72, What should he its selling price to get a profit of 5%7

e X1 Z8s
X 2380
X 3387
v 384

Question 1D : 9895809052
Chosen Option . 1

Q.5 1he average oI marks scored Dy 40 studenis wae 150, Later on it was discovered thar one mark 165 wae wrongly copied
8 a3 125. The correct averags is:

e X1 162
X 2 160
v o161
X 163

https:fissc.dicialm.comi/perfa21/pubi2207 ftouchstone/Asse ssmentQF HTMLMode 1/220701827/220701827577DT2032/1552649578 7153101/ 13/32



4/26/2019 https-f/ssc digialm comi/perig 21/pubi2 207/touchstone/AssessmentOPHTMLMode 1/ 220704 B27/2207 01827 S7TOT2032/1 552640857

Question ID . 9895809047
Chosen Option * 1

Q.5 4 train passes 2 station platform 1n 36 s2conds and a man standing on the platform in 20 seconds. If the speed of the
9 trainis 72 kovph. whet is {be length of (e bain?

Ane X1 120 metres
v 2 320 metres
X 3 360 metres
X 4 240 metres

Ouestion |D - 9895809061
Chosen Option © 1

% The range of 11, 9, 18, 35, 42, 26. 4, 19. and 31 is:
A off 1538

X226

X3 4

X4

Question ID - 9895809049
Chosen Option © 4

Q.8 If a bov walks from his house to school at 8 ka'ir then he 13 late by 30 mimutes and if he walles at 12 kenvhr then he
1 reached on time. The distance ofhis school from his honse is:

Ans X 1. 10 km
X 2 18 km
X 315 km
v ¢ 12km

Question 1D : 9895809060
Chosen Option : 1

Qs Arectngular field has length of 1200 m and breadih of 500 m. A road has to be made along it diagenal at the rate of
2 725 perm. What is the cost of making rcad?

Ans X1 225600

v 2 T 32500

2 2 735000

< + T 28400

Question |D . 9895809062
Chosen Option * 1

Q.6
3

https:fissc.dicialm.comi/perfa21/pubi2207 ftouchstone/Asse ssmentQF HTMLMode 1/220701827/220701827577DT2032/1552649578 7153101/ 14432



4/26/2019 https-f/ssc digialm comi/perig 21/pubi2 207/touchstone/AssessmentOPHTMLMode 1/ 220704 B27/2207 01827 57707 2032/1 552640857

THRECTTONS: These questions are bised on the given pie chart. The pie chart shows (he monihly expenditure of Mr,
Sachinon various items. Study the chart anc answer the given quesiions.

Expenditure

olbers, 14°

Fdueation, 1848

Sadnge, 48

LR

Expenditure on medicine is approximately how much percent of 1otal expenditure?
Ans 1 1333%

X2 12.5%

X 3 14%

X 4 36%

Question 1D : 9895800067
Chosen Option : 1

%° What is the least perfect cube which is divisible by 5, 10 and 157
Ane X1 24000
X 2 21000
X 3 64000
v+ 27000

Question 1D . 9895809043
Chosen Option - 1

% Simplify:

999+ |11 ¥ 0.5="2
Ll R

X 2 535

X 3 1110.5

v 110545

Question ID : 9895809044
Chosen Option : 4

Q.6 The ravic of the bovs and gzirls at a school’s anneal funetion was 1 ; 2 but when 10 boys and 10 gerls left. the ratio
6 became 2 : 5. How many students were at the annual function originally?

A X 1102
X284
< 396
v 90

Question ID . 9895809054
Chosen Option . 1
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